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ecology worksheet 4 - using transects for F easier.rtf
Using Transects for Foundation Tier (easier)

Key term meanings Link the term with its meaning, using arrows

Abundance 


data that uses words to describes something. e.g. the colour

Quantitative data 
data that defines something by the use of numbers e.g. temperatures

Qualitative data 

the amount or number of something 

Questions use the words in the word box to fill the gaps.



1. Describe how a scientist could estimate how the population of marram grass changes on a beach, from the dunes to the sea front. 





(4 marks)

a) Use a line ……………………………..


b) Divide the area underneath the transect into ………………………..

c) ……………….. all the organisms


d) That ………………… the line


2. A beach from the sand dunes to the sea at (low tide) is split up into 8 zones: zone A, zone B, zone C, zone D, zone E, zone F, zone G and zone H. A transect was used to investigate the number of marram grass plants, coastal panic grass and American beech grass and how the number of individual species changed according to the zone,







Results were as follows:


		Zone

		No .marram grass plants

		No. coastal panic grass plants

		No. American beech grass plants



		A

		5

		8

		0



		B

		6

		8

		2



		C

		5

		2

		5



		D

		4

		0

		7



		E

		2

		0

		1



		F

		0

		0

		0



		G

		0

		0

		0



		H

		0

		0

		0





a. What is the modal number of:


I. Marram grass plants 

…………………… 


(1 mark)

II. Coastal panic grass plants
………………………


 (1 mark)

III. American beech grass plants?
…………………….. 


(1 mark)

b. What is the median number of:

I. Marram grass 


……………………..


 (1 mark)

c. What is the mean number of marram grass plants per zone? 



 


         +                +                 +                +                






(2 marks).

                                    5

For the following questions, circle the best choice:


d. We could change the investigation done by using a quadrat as well as a line transect:


1) Lay the quadrat under/above the transect


2) Place the quadrats/transects next to each other or at intervals

3) Discard/Count number of that species or estimate the percentage abundance   (3m)

e. There are no plants growing in zones F, G or H because it the sand is too dry/wet and plants can be damaged by the force/pressure from the sea here.

(1 mark)

f. Coastal panic grass prefers wet/dry conditions. This is why it grows near/far from sand dunes 










(2 marks)

count				zones				touch				transect







Zone A







Zone H







Zone G







Zone F







Zone E







Zone D







Zone C







Zone B











Edexcel reference: 9.6, 1c, 1d, 2b-d,  2g, 4a, 4c

REVISION GUIDE: p 96


https://www.freesciencelessons.co.uk/gcse-biology-paper-2/ecology-old/sampling-organisms/ 


https://www.freesciencelessons.co.uk/gcse-biology-paper-2/ecology-old/required-practical-9-sampling-organisms/ 
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Ecology worksheet 5 - pyramids of numbers and biomass.docx
Pyramids of Number, Pyramids of Biomass and efficiency of energy transfer

Warm up

Link the key terms to the correct definition (meaning):

Biomass		Amount of energy available for the next trophic level

Trophic level		A measure of mass of all the organisms at a trophic level

Dry biomass		The position of organisms in a food chain

Energy transfer		Mass of all organisms at a trophic level when the water 

				has been removed, leaving only the living tissue (proteins

				lipids and carbohydrates)

grade 1 (4 marks)

a) Cross out the incorrect response

In order to obtain dry biomass, scientists collect all the individuals in the trophic level, kill them and dry them. They do this because wet/dry biomass contains a variable amount of water/salt and this causes accuracies/inaccuracies in results. Scientists can’t do this each time they want to investigate food chains, so they use wet biomass/data instead.

b) What percentage of energy is transferred from one level to the next? (1 mark)

Grade 2 (2 marks)

Use the data to draw a pyramid of numbers for the following food chain:

1 oak tree  50 grasshoppers  10 shrews  2 owls

Use a scale of the width of 1 small square is 1 individual.

[image: ]

Grade 3 (3 marks)

a) In mammals and birds, state and explain the processes that are responsible for the loss of energy from one trophic level to the next

………………………………………………………………………………………………………………………………………..

………………………………………………………………………………………………………………………………………..

………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………….

b) Use the data to draw a pyramid of numbers for the following food chain (4 marks):

4 chilli plants  80 aphids  8 ladybugs

[image: ]





c) Use the data to draw a pyramid of biomass for the following food chain (2 marks)

50 kg chilli plants  5 kg aphids  1 kg ladybugs

Use of a scale of the width of 1 small square to 1 kg.

[image: ]

Grade 4 (4 marks)

a) Use the data to draw a pyramid of biomass for the following food chain (4 marks)

Algae 20000 kg  shrimp  10000 kg  cod 4000 kg  2000 kg seal  1000 kg polar bear



[image: ]









b) (i) Calculate the efficiency of energy transfer in the following situations:

A polar bear eats 50 kg of seal in 1 month and gains 20 kg of body mass. (2 marks)







c) (ii) Calculate the percentage efficiency of energy transfer in the following situations:

A polar bear eats 72 kg of seal in 1 month and gains 18 kg of body mass. (3 marks)





Grade 5 (2 marks)

Why do you think scientist prefer to use pyramids of biomass, rather than pyramids of numbers?

…………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………

Edexcel reference:  9.7B, 9.8B	REVISION GUIDE: p 97-98	

https://www.freesciencelessons.co.uk/gcse-biology-paper-2/ecology-old/pyramids-of-biomass-triple/ 
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Ecology worksheet 6  - biodiversity, maintaing biodiversity  and waste management for F easier.docx
Biodiversity, Ecosystems and Waste Management for Foundation (easier) 

Key Term Meanings circle the best option to give the meanings for the key terms:

Biodiversity: the variety of same/different species on Earth or within an ecosystem

Field margin: an area/perimeter around a field that grows only a few/one crop, where grasses and wild flowers are left to grow to increase waste/biodiversity

Eutrophication: overgrowth of microorganism/plant populations means that all carbon dioxide/oxygen is used up.

Questions

1. [bookmark: _Hlk499813271]Grade 1: During the Industrial Revolution (about the 1830s) there have been many new medicines developed and farming that produces higher yields. What did this do to the number of people in the World? (1 mark) ..........................................................

2. Grade 2: People around the World are demanding a very high standard of living. This has an environmental impact. What happens to the amount of resources and energy used as the standard of living increases? (2 marks)

……………………………………………………………………………………………………………………………………

	……………………………………………………………………………………………………………………………………

3. Describe the benefits of protecting and maintain biodiversity (6 marks)



………………………………………………………………………………………………………………………………



………………………………………………………………………………………………………………………………



………………………………………………………………………………………………………………………………



………………………………………………………………………………………………………………………………



………………………………………………………………………………………………………………………………



………………………………………………………………………………………………………………………………



………………………………………………………………………………………………………………………………



………………………………………………………………………………………………………………………………



………………………………………………………………………………………………………………………………

4. Grade 3: complete the sentences by using words from the box (you many need to use words more than once):Word box	habitat		oxygen		introducing 	fossil fuels	biodiversity	zoos 	protected	managing	photosynthesize	reforestation	     species	algae		eutrophication  	non-indigenous	hunting	predators	waste		banks		conservation	farming	fertilisers	light	parasites	holding





		Human activities that increase or maintain biodiversity

		Human activities that decrease biodiversity



		Creating p…………… areas, such as nature reserves, hedgerows and field margins

		Use of nitrate f………………….: rain transfers these into rivers and lakes and this causes a………….. to grow, which block the l……………. Plants cannot p………………. and decompose. Decomposing microorganisms use up all the o………….., so all other life die. This process is called e………………….



		m…………….. fishing by having quotas 



and m……………….. logging operations

		h……………… destruction: deforestation/ land cleared for building or f…………………



		

Reducing w…………….. by recycling

		

h……………… destruction: global warming causing flooding



		Reduced use of f………………. f……………….

		h……………….: killing animals for food



		c………………… programmes for endangered species by:

Protecting the species’ natural h………………..

Storing seeds in seed b……………

Protecting species in safe areas, e.g. z…………

		i……………………. species to different countries or islands, e.g. the grey squirrel comes from North America intentionally introduced in 1876, outcompetes our native red squirrels (and also is destructive to barks and branches of trees). This is an example of a n…….-i………………. species



		r…………………, especially if many different s………… of tree are planted and this will attract many different species and so increase b…………………

		fish farming in h………….. nets in open water by:

fish food can cause e……………………………….

p…………………. can breed where there is a large population and this can infect other animals

farmed n……-i………………….. species can escape causing competition for indigenous species

p…………… are attracted to the fish, and these can become trapped in nets and die







Edexcel reference: 9.9, 9.10	REVISION GUIDE: p 99 – 100	

https://www.freesciencelessons.co.uk/gcse-biology-paper-2/ecology-old/biodiversity/

https://www.freesciencelessons.co.uk/gcse-biology-paper-2/ecology-old/sustainable-fisheries-triple/ 	
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Ecology worksheet 7 - food security.docx
Food security

Grade 1 (3 marks)

Food security is defined as everyone has access to e______ food, that is s____ to eat and has the right balance of n________

Grade 2 (3 marks)

Give reasons why the world population is increasing.

……………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………………………

Grade 3 (2 marks)

[image: ]Use the graph to explain why food security is becoming an issue.

……………………………………………………………..

…………………………………………………………….

……………………………………………………………….

……………………………………………………………..

……………………………………………………………..










Complete the table of biological factors that can affect food security

		Factor

		Explanation



		Increased animal and fish farming

		How wealth affects variety of foods eaten:



		

		How this affects biomass and energy:













		

		What this means for fish stocks:



		Environmental change due to human activity

		Greenhouse gases:













		

		Climate change:









		

		Other changes: 



		Sustainability

		Definition of sustainability:







		

		The problem with fossil fuels









		

		The problem with biofuels as an alternative













		New pests and pathogens

		The problem with pests and pathogens to crops and livestock:





		

		How new pests and pathogens can affect crop yield















Edexcel reference: 9.11B	REVISION GUIDE: p 101	

https://www.freesciencelessons.co.uk/gcse-biology-paper-2/ecology-old/food-security-triple/ 

image1.png

g e .
S %53
me q
i Pn
J__Nﬁm_
O O O © © © © ©
o O O O O O O
(suoyjiw) uioyeindod uewny

Country







image8.emf
Ecology worksheet  8 a - how materials are cycled for F easier.docx


Ecology worksheet 8 a - how materials are cycled for F easier.docx
How matter is cycled for Foundation (easier)

Key term meaning Link the term with the best meaning with arrows



Condensation: 		A natural fuel that is formed from the decaying remains of 

				organisms e.g. natural gas, coal and crude oil.

Evaporation: 		(In this context) rainfall, snow or hail.

Precipitation: 		Conversion of a gas into a liquid. 

Transpiration: 		Conversion of a liquid into a gas.

Fossil fuel: 			A way in which plants give off water through their stomata (holes 

				in leaf)

Warm up question

Select the best choice. Why are the water and carbon cycles known as cycles because they are: 				continuous/non-continuous processes.

The water cycle

1.  Label the diagram below with the 4 processes that occur in the water cycle. (4 marks)



[image: Image result for water cycle image]

2. Us the words in the word box to explain how the following use these physical processes in the water cycle – a word can be used more than once. (4 marks)rain		evaporates 			hail		transpire		snow









Plants: …………………………. and water vapour formed …………………….. to form clouds.

The sea: water from the sea ………………………………….

Clouds: produce …………………, ……………… and ………………… that forms lakes and seas.

The carbon cycle

1. State the 3 conditions that increase the rate of decay (3 marks)

……………………………………………………………………………………………………………………………………

2. Select the best options that explain how microorganisms are involved in cycling materials through an ecosystem						 (2 marks)

· They eat/break down waste products (e.g. faeces) and dead organisms (1m)

· Into carbon compounds/elements and nitrogen (1m) (needed for plant growth)

3. Label the missing information in the diagram below (4 marks)

[image: Image result for carbon cycle image]




4. Explain how each process in the carbon cycle contributes to atmospheric levels of carbon dioxide. (6 marks)

1) Photosynthesis: ………………………………………………………………………………………..

………………………………………………………………………………………………………………….

2) Respiration of animals and plants: ……………………………………………………………

......................................................................................................................

3) Death of animals and plants: ……………………………………………………………………

4) [bookmark: _Hlk500325893]Combustion: ……………………………………………………………………………………………

5) Break down of waste products: ………………………………………………………………..

…………………………………………………………………………………………………………………

6) Animals eating plants: ………………………………………………………………………………

…………………………………………………………………………………………………………………

Edexcel reference: 9.13; 9.14	REVISION GUIDE: p 102 – 103

https://www.freesciencelessons.co.uk/gcse-biology-paper-2/ecology-old/the-carbon-cycle/

https://www.freesciencelessons.co.uk/gcse-biology-paper-2/ecology-old/the-water-cycle/ 
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Ecology worksheet 8 b - nitrogen cycle.docx
[bookmark: _GoBack]The Nitrogen Cycle

[image: ]

Warm up questions

1. What do animals use nitrogen and plants use nitrates for?

……………………………………………………………………………………………………………………………………………………………………….

2. How is nitrogen different to nitrates

………………………………………………………………………………………………………………………………………………………………………...

3. Where do nitrogen fixing bacteria live (2 places)?

……………………………………………………………… and ……………………………………………………….

4. What nitrogen containing chemical is excreted in urine?

Grade 1 complete the flow diagram that describes the nitrogen cycleBreak down of urea to ammonia by …………………………

………………………………………

Excretion produces ……………



…………………. produced

Break down of dead animals (protein) by…………………………..

Eaten by ……………….

Absorption by ……….

Nitrates in …………..

Nitrogen gas in ……….

















Grade 2

Describe the actions of the following types of bacteria:

1. Nitrogen fixing: ………………………………………………………………………………………………………………………………(1 mark)



2. Nitrifying: …………………………………………………………………………………………………………………………………………(1 mark)



3. Denitrifying: …………………………………………………………………………………………………………………………………….(1 mark)

What sort of relationship is it between the leguminous plant and bacteria in root nodules?

…………………………………………………. (1 mark)

Grade 3 and 4

Explain why farmers need to replenish soils with nitrate (2 marks)

…………………………………………………………………………………………………………………………………………………………………………………………

………………………………………………………………………………………………………………………………………………………………………………………..

Describe and explain 3 methods farmers use to put nitrates back into the soil (6 marks)

1. ……………………………………………………………………………………………………………………………………………………………………………



…………………………………………………………………………………………………………………………………………………………………………..



2. …………………………………………………………………………………………………………………………………………………………………………..



………………………………………………………………………………………………………………………………………………………………………….



3. ………………………………………………………………………………………………………………………………………………………………………….



………………………………………………………………………………………………………………………………………………………………………….

Grade 5

Here is an answer to the exam question ‘explain the function of the root nodule in transport in plants’ (3 marks)

The root nodule contains nitrogen fixing bacteria that takes nitrogen from the air and transports it into the plant root by active transport.

How many marks of the 3 would you award? Explain why you are not awarding any marks that you have chosen not to.

……………………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………………….
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Ecology worksheet 9 - decomposition.docx
[bookmark: _GoBack]Decomposition

Warm up question

Define the word ‘decomposition’

……………………………………………………………………………………………………………………………………………….

Define the word ‘rate’

…………………………………………………………………………………………………………………………………………….

Give the name of the living organisms that decompose dead material.

……………………………………………………………………………………………………………………………………………..

Grade 1

 List the 3 factors that affect the rate of decomposition (2 marks)

…………………………….		………………………………		…………………………………..

Grade 2

Explain how the rate of decomposition can be affected by temperature, moisture content and oxygen availability.			   (3 marks)

…………………………………………………………………………………………………………………………………………..

…………………………………………………………………………………………………………………………………………..

…………………………………………………………………………………………………………………………………………..

…………………………………………………………………………………………………………………………………………..

Grade 3

A pot of yoghurt was left on the kitchen table for 8 days. Moulds and fungi decompose yoghurt. Use the graph to calculate the average rate of decay of the yoghurt.			(2 marks)Amount of mould

40

35

30

25

20

15

10

5



0      1      2      3      4      5      6      7      8

                 Time (days)



	                                       











                                                               ………………… Units of mould per day





Grade 4

Design a compost bin so that the maximum rate of decomposition is achieved.   (5 marks)



























Grade 5

Explain how the following methods of preservation slow the rate of decomposition (8 marks):

1. Storing food in a fridge ……………………………………………………………………………………………………………………………………………………………………………



……………………………………………………………………………………………………………………………………………………………………………

2. Storing food in cans:

……………………………………………………………………………………………………………………………………………………………………………



……………………………………………………………………………………………………………………………………………………………………………



3. Drying food:

……………………………………………………………………………………………………………………………………………………………………………



……………………………………………………………………………………………………………………………………………………………………………



4. Salting food or storing it in sugar:

……………………………………………………………………………………………………………………………………………………………………………



……………………………………………………………………………………………………………………………………………………………………………
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Ecology worksheet 1 for F - communities answers.docx






Ecology 1 – Communities for Foundation (easier)Key term meanings: circle the best word of the two words in italics,

1. Biotic factors: living factors in the environment, e.g. pathogens



2. Abiotic factors: non-living factors in the environment, e.g. soil pH

Both biotic and abiotic factors change all the time, and this can increase or decrease populations.

3. Population: the number of a species living in a habitat



4. Community: the populations of different species living in the same habitat 



5. Habitat: a place where an organism lives



6. Ecosystem: a place where a community interacts with biotic and abiotic

      factors.

7. Interdependence: all the different species in a community depend on each 

other for resources

8. Mutualism: a relationship between 2 organisms where both benefit, e.g. wrasse feed off the lice of grey whales



9. Parasite: an organism that takes what it needs from a host organism, who does not benefit from the interaction, eg. Head lice and humans





		Water

		Light

		Space

		A mate



		Territory

		Minerals

		Food 

		







Use the words from above to complete the table. They may be used more than once.

		Plants need (and compete with other plants for)

		

		

		

		



		Animals need (and compete with each other for)

		

		

		

		










Interdependence: in a community, each species depends on other for food, shelter, seed dispersal 

or pollination. This means that any change in the ecosystem will have effects on other species. The diagram below shows a food web.

[image: ooxWord://word/media/image1.jpeg] Carrot fly is a pest that damages carrots. What would happen to (circle the correct answer):

a) The number of rabbits: 



increase/decrease



b) The number of foxes:



increase/decrease



c) The amount of grass:



increase/decrease



d) The number of grasshoppers:



Increase/decrease









Edexcel reference: 9.1			REVISION GUIDE REFERENCE: p 95     

https://www.freesciencelessons.co.uk/gcse-biology-paper-2/ecology-old/competition-and-interdependence/

https://www.freesciencelessons.co.uk/gcse-biology-paper-2/ecology-old/biotic-and-abiotic-factors/ 
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Ecology Worksheet 2 - biotic and abiotic factors for F easier.docx
Ecology worksheet 2 – Biotic and Abiotic Factors for Foundation (easier)

Questions

Grade 1 

Circle the correct option: 

biotic factors are the non-living/living factors that affect a community.



Grade 2

Complete the table below, stating whether the factors in it are biotic (B) or abiotic (A):

		Light

		Pathogens

		Soil pH

		Temperature

		CO2 level

		Predators 

		O2 level

		Food availability

		Moisture level

		Competition



		

		

		

		

		

		

		

		

		

		







Ash die back disease is caused by a pathogen (a fungus) and is affecting our native Ash trees. It causes the tree to lose leaves and makes scars on the bark. It usually kills the tree. This can affect many species:

		Species

		How they need Ash trees



		Bullfinches (bird)

		The feed on the winged seeds.



		Other birds 

		They use the tree for nesting (owls and woodpeckers).

Many species of bird eat insects and caterpillars.



		Caterpillars

		The feed on Ash leaves.



		Lichen

		They grow on the tree bark.

Also some lichen ‘fix’ (provide) nitrogen for the tree to grow better.



		Flowering plants

		Ash leaves fall early so there is more light to promote growth.

More flowering plants benefits insects, especially the endangered brown fritillary butterfly.







Grade 3

With respect to Ash die back disease, state whether the following are biotic or abiotic factors:

The fungus ……………………………………………………………………………………..

The winged seeds: ……………………………………………………………………………

The nitrogen provided for the tree …………………………………………………………….

The light to promote growth of flowering plants ………………………………………………………………

	



Grade 3 - 4 (4 marks)

[bookmark: _Hlk500157479]Competition is a biotic factor. Describe how the factors affected by Ash die back disease will affect competition within the populations of the species below. State what will happen to the numbers of individuals in their populations:

a) Caterpillars: ……………………………………………………………………………………………………………

....................................................................................................................................

………………………………………………………………………………………………………………………………

b) Owls and woodpeckers: ………………………………………………………………………………………….

.....................................................................................................................................

.....................................................................................................................................



Abiotic and Biotic Factors: Word Search

		T

		N

		A

		A

		T

		P

		J

		D

		N

		I

		W



		L

		E

		V

		E

		L

		N

		E

		G

		Y

		X

		O



		R

		G

		M

		Y

		K

		R

		M

		X

		L

		A

		V



		C

		O

		M

		P

		E

		T

		I

		T

		I

		O

		N



		J

		H

		T

		K

		E

		S

		E

		I

		G

		B

		X



		B

		T

		U

		A

		M

		R

		O

		H

		H

		F

		Q



		I

		A

		Z

		F

		D

		U

		A

		I

		T

		M

		L



		Z

		P

		O

		W

		C

		E

		H

		T

		L

		O

		C



		M

		O

		I

		S

		T

		U

		R

		E

		U

		P

		N



		D

		R

		T

		T

		G

		W

		K

		P

		O

		R

		H



		X

		T

		H

		K

		C

		L

		T

		S

		J

		Z

		E







Words to find

Competition		Moisture		

Predator		

Wind		Oxygen level

Food			Pathogen		

Light 			Soil pH



There is another abiotic factor: can you find it?











Edexcel reference: 9.2, 9.3, 9.4 		REVISION GUIDE: p 95

https://www.freesciencelessons.co.uk/gcse-biology-paper-2/ecology-old/biotic-and-abiotic-factors/ 
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Ecology worksheet 3 using quadrats for F tier easier.docx
Using Quadrats for Foundation Tier (easier)

Key term definitions

Abundance: …………………………………………………………………………………………………………………………………………

Quantitative data: …………………………………………………………………………………………………………………………………………

Qualitative data: …………………………………………………………………………………………………………………………………………

Warm up question

Describe how you would use a quadrat to investigate the distribution of small organisms in two different areas. (6 marks)

1) Place the 1 m2 quadrat on the ground at a ………………… point in the sample area.



2) ……………….. all the organisms within that quadrat



3) ………………….. steps 1 and 2 as many times as you can



4) Work out the ……………….. number of organisms per quadrat in the first sample area



5) Repeat steps 1 – for the ……………………. sample area



6) Compare the two …………………..

Below (on the next page) is a small field of dimensions 8 m x 6m. You have a quadrat with dimensions of 1 m x 1m. This means that each cm on the diagram represents 1 m of the field. The right hand side of the field is next to a stream (right of the line) .  

1. Use the method you outlined above to calculate the mean number of each daisy species (the white and the blue) per quadrat. Do this for each of the two sample areas.  Choose 8 squares in each sample area. 

		                        Left side of field                                                     Right side of field



		Quadrat number

		

		

		

		

		

		

		

		

		

		

		

		

		

		

		

		



		No. white daisies

		

		

		

		

		

		

		

		

		

		

		

		

		

		

		

		



		No. blue daisies

		

		

		

		

		

		

		

		

		

		

		

		

		

		

		

		





2. What is the mode for each species of daisy in the two sample areas?



White daisy: ………………………….. 		blue daisy ………………………..

 [image: Image result for image ariel view of a field]

3. Mean number of daisies per side (add up all data and divide by the number of quadrats you used – 8 here)

		

		White daisy

		Blue daisy



		Left hand side of field

		___________ =

           8

		___________ =

           8



		Right hand side of field

		___________ =

           8

		___________ =

           8







4. Work out the abundance (how many) of white daisies in the two sample areas.

		Sample area

		Area of sample area (m2)

		mean no of white daisies

		Abundance: mean no x sample area

		Mean no of blue daisies

		Abundance: mean no x sample area



		Left hand side

		8 x 6 = 

		

		

		

		



		Right hand side

		8 x 6 =

		

		

		

		







5. Conclusion: Which colour daisy prefers drier conditions?        ………………………………

Edexcel reference: 9.6, 1c, 1d, 2b-d, 2g, 4a, 4c 	REVISION GUIDE: p 96

https://www.freesciencelessons.co.uk/gcse-biology-paper-2/ecology-old/required-practical-9-sampling-organisms/ 
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